CI&| &
|_I-'EI o
ta B7le 24859 AFold. o] Al5Se] S
AE Ao BdS A 4, R BYe A B
23 & i, n(A), n(B) & Tstol=t
H7]
w1, B @A ARt A, et 2ol M 9ls
yrt, A=A, old A
Ut A= {z|lze 329 f} &, e T w2 A<
R =Y (A 2
®© ocA
@ 16¢ A
® A= Fetgeltt
@ n(A)=5
® {zz= 89} cA
= A" =  {zfz=s59 s}, B =
{zlze 75 9] F5} o diste] o5 #l tholoid
Ho= vtebd o, At FZ sgste dart
otd ZA2?
A B
@ 5 @ 10 ® 15 @ 25 ® 75

AR A =1{0,2 {4, {6, 8}, o} L W, & %
84 e AL

D ocA @ {0, 2, {4}}cA
® n(4)=5 @ {4} c A
® {6,8}cA

A A, Boltist A={3,7,9,13,15}, ANB = {3,
13,15}, AUB ={1,2,3,5,7,9, 11, 13, 15} & o,
n(B) 9 k& oot

T A% C, D o tst n(C) =12, n(D) =8
(CND)=4<Y ™, n(CUD)E?

3

D 15 @ 16 ® 17 @ 18 ® 19

A A =1{1, 2, 3}, B = {z | & 49 5}
3ol AxB={axb|lacA be B} 40,

Ax B) & Fteet.

Nl
n(

o oF4}, B = {1, 2, a} °I
St o O & 25 Foteiet




T A A= {2, 20, a+4}, B={2, 10, b} ol 5}
o, A=B 4 d|, 71538t q, b O] FHS BT Lotojel

10.

)

] g A S0l e e B
oA FEAol e Aol 18
Aol 15 ol et Fe AT o 5] =T 9l

<= 2 YA Fstoiet,

e

ox 1o

11.

AYF U o F HEYG A, B 7} e BES
n(4) -

%l
o,

AUB={b, ¢, d, e, f, g i}
A°NB=1{b, f}
ACUBC:{aa ba C, f7 g, h? 7“}

12. 44 5 = {r|ecAds)el RRyE
A ={z|zecA°lH5-ze A} 7} UAth
o M4 Fetelat,

13. Al "3t A,B,C 7} n(A) = 7,n(B) = 5,n(C) =
4n(A—B)=5n(B—-C)=4,n(C—-A)=4L o,
n(AUBUC) & Fotolt.

14. AL U o gl obd Al #2343 A, B, C

® n(A-C)=0
nC)
) n(A) (B) =n(C)
® n(ANC) =n(B)
@ n(4) ;n(c) — n(B)
® n((AnC)-B)=n(AUBUC)

15. o5 § &4 &2 A7

O A={z|ze99 L W, n(A) =3

@ AcBelHn(ANB)=n(B)

® n({2, 3, 5}) —n ({10, 11, 12}) =0

@®A = {1, 2, 4, B = {z |
r= bHT A2 A4t W, 2 € A 0]
™ 2 € B o]t}

® oec{o}




